( D)] | I/ P
Southeast Aerospace
COBHAM AVIONICS ARTEX PRODUCTS
Pack List
Part Number: 455-6608 (Cirrus Specific)
Description: ME406ACE (ACK) ELT with Self-Powered RMT and 110-773
QUANTITY PART NUMBER REV DESCRIPTION
1lea 455-7420 - Pack List, ME406 Install Kit
4 ea 201-0810 - Screw, Phillips 8-32 x 5/8 SS
4 ea 241-0832 - Nut, Hex 8-32 x 1/4 SS
4 ea 246-0008 - Washer, Flat, SS .036” - .045” THK
2ea 850-0814 ----- Sealant Strip, D-Sub Connect
1lea 455-0023 B Pack List, Self-Powered Remote Switch
4 ea 201-0408 - Screw, Phillips 4-40 x 1/2 SS
4 ea 241-0400 - Nut, Hex 4-40 Reduced Dim.
lea 453-0023 A Remote Switch, Self-Powered Assembly
lea 570-0023 B Manual, Remote Switch 453-0023, Module Interface
453-1101 and Buzzer 452-6505 Installation
lea 591-0036 - Label, Cell Replacement Warning
1lea 591-0029 A Label, 453-0023 Remote Switch

Components in box below assembled per 454-0001 (ME406 Shipping Configuration)

lea 452-3034 - Assembly, Mounting Tray ME406 Yellow

lea 453-6603 B Main Assembly, ME406 Yellow

lea 110-773 A Antenna, 121.5/406 MHz Whip

lea 452-6505 - Buzzer, Piezo

lea 453-1101 A Module Interface, ELT to Remote Switch Assembly
lea 570-1600 C Manual, Installation Operation & Maintenance

lea 611-6013-12 - Cable, Coax BNC to BNC 1.25’

NOTE: ELT warranty registration, avionics warranty and satellite registration forms are available on the

Artex website at www.artex.net.

1399 General Aviation Drive Melbourne International Airport Melbourne, Florida 32935 USA
(T) 321-255-9877 (F) 321-255-9608 sales@seaerospace.com FAA CRS# S66R266N/EASA# 145.5352



http://www.artex.net/

